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1. (20 %) Find a matrix P such that the matrix P '4Pisa diagonal matrix, where

1 =1 =1
A=1 3 1
~3 1 =i

2. (20 %) Find the inverse Laplace transform of the function F(s), where

s+2
(s~ (s 42 a5k

F(8)=

3. (20 %) Use the “Divergence Theorem” to calculate

ﬁ:(ﬁ dydz + x> ydxdz + x”zdxdy )

S

bl

where the integral area is bounded by the closed cylindrical surface and can be
described as

S:x*+y’=a>~0<z<b

4. (20 %) As shown in Fig.1, the curve C is the triangle with the vertices 4(2,0,0),
B(0,2,0), D(0,0,2). Use the “Stoke's Theorem” to calculate the line integral

(ﬁ(z —y)dx+|:x—z)dy+[y—xjdz

¢

Fig 1.

5. (20 %) Find the general solution of the following second-order differential
equation

2y —2xp' +2y =x" cosx



